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1. (a) 𝑙/𝑎 = ±(1 + 𝜂)1/2

(b) ℎ/𝑎 = 𝜂 cot−1(ℎ/𝑎)

2. (a) 𝑢 → −Γ/2𝑑 as 𝑦/𝑑 →∞ and +Γ/2𝑑 as 𝑦/𝑑 → −∞; 𝑣 → 0

3. (b) ℎ2 = ℎ1/2

(c) 𝑏2 = ℎ1 − ℎ2

4. (a) 𝛿/𝐿 ∼ Re
−1/2
𝐿

(d) 𝑎1 = 3/2; 𝑎3 = −1/2

(e) 𝜃 = (39/280)𝛿; 𝑐′
𝑓
= 3𝜈/(𝛿𝑈)

(f) 𝛿/𝑥 = 4.64Re
−1/2
𝑥

5. (a) 𝐵 = 2𝐴

(b) 𝐹 (𝑟) = 𝑟𝑔(𝑟)𝑈 (𝑟)

(c) 𝑢 = 𝐴𝑟 𝑓 ′; 𝑣 = −2𝐴(𝜈/𝐴)1/2 𝑓 ; 𝜕𝑢/𝜕𝑟 = 𝐴 𝑓 ′; 𝜕𝑢/𝜕𝑧 = 𝐴𝑟 𝑓 ′′(𝐴𝜈)1/2

(d) 𝑓 ′′′ + 2 𝑓 𝑓 ′′ + 1 − ( 𝑓 ′)2 = 0; 𝑓 (0) = 𝑓 ′(0) = 0; 𝑓 ′(∞) = 1

6. (a) 3.45𝛿

(b) 0.6

(c) 5.5◦

7. (a) 𝑋 = 0.75𝑐

(b) Γ1 = (9/8)Γ0 ; Γ2 = (7/8)Γ0

8. (f) 𝐶𝐷 ≈ 0.004
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